Simultaneous Equations Problems

Q1.
* The Singh family and the Peterson family go to the cinema. 2
A +3C = £2¢.20 ()
The Singh family buy 2 adult tickets and 3 child tickets.
They pay £28.20 for the tickets. A + §¢C = f44, 15 @

The Peterson family buy 3 adult tickets and 5 child tickets. _
They pay £44.75 for the tickets. @x 3 GA + AC = £8a.6o @
@)x2 6A + 10C =£84.50 @

@-0 C = £4.490

Find the cost of each adult ticket and each child ticket.

SUL" fFor‘ C “"@

24 + 3((4.40) = £2¢220 dle £ s

A + . :£ .2

2 Zla. 76 28.20 CLild £a4.90
2A = £28.20 —£14.70
2A =£13.50

= 13.50

A {— = { é 75 (Total for question = 5 marks)

Q2. 2

3 kg of potatoes and 4 kg of carrots have a total cost of 440p. ’3 P + 4 ¢C = 4 40 @

4 kg of potatoes and 3 kg of carrots have a total cost of 470p.

4P+ 3¢c =470 (@

@"3 AP +12¢ = 1320 (B)
@x4 16P +12¢ =9 go@

Work out the total cost of 1 kg of potatoes and 1 kg of carrots

Sué -Fa/‘ P ;n @ @_@ 7’0 - 5.60
- F - S¢o
3(g6) + 4¢ = 440 C
240 +4c =440 P = 8o
4 ¢ =4&40-240
4 ¢c = 2060 Po('a-éoeg “fa £or Zo,o
c = 200 Larmbs ) kyfor Sop
4

C = So (Total for question = 4 marks)
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Susie has to deliver some packages and some parcels.

Qs.

] . 4 O'( éo'é-a.' are I’Jaroel.f
The total number of packages is 4 times the number of parcels. s
The total number of packages and parcels is 40

40 5 =F%
Each parcel has a weight of 1.5 kg.
The total weight of the packages and parcels is 37.6 kg. So g F‘“‘U
Each of the packages has the same weight. and 32 F“ (_4(.4_3 e

Work out the weight of each package. .
L (& E W be wits ht a’tc fé.cl(d.ﬂe

€xl.s + 32w =37.6 *fj

2. + 32w = 3.6
32 W = 37.6—1(2
32w = 25,¢
W = 256 0.8 bk

37,

(Total for Question is 4 marks)
Q4.

A cinema sells adult tickets and child tickets.
A+ Ic = £3% ()

The total cost of 3 adult tickets and 1 child ticket is £30
The total cost of 1 adult ticket and 3 child tickets is £22 |A + 3¢ =£22 @

Work out the cost of an adult ticket and the cost of a child ticket.

Ox3 AA + 3C =fa0
®-0 &A =4ew

Sob Lor A tn () A = é;x
3(#£%.50) + C = £30 A = £8.50
265.50 +C =£30
é adult ticket £......... g "S-O .....................................

C = £330 —£25.50

C =#£4.50 child ticket £ 4.50

(Total for question = 4 marks)



Q5.

* Paper clips are sold in small boxes and in large boxes.

There is a total of 1115 paper clips in 4 small boxes and 5 large boxes.

There is a total of 530 paper clips in 3 small boxes and 2 large boxes.

Work out the number of paper clips in each small box and in each large box.
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48 + 5. s
3s +2zL = 536

o,

Ox2 gs+ 10L= 2230 (3
@xs' Iss + 1oL = 265’0@

@-0B 7S =420

S = &4 20
~
S=6o

LA(‘&e_ Bd)( 1—75-
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SQL Lor S in @
3(60) +2L = S30

/|80 + 2L = S30
2L = §3po-—-1%o

2., =350
L = 3§50
2

L =178

(Total for Question is 5 marks)



